XTR Programmable Power Supplies: Application Note
Rack Mount Kit Options and XTR 850 Watt
Installation Instructions M370046-05 Rev D

This Application Note provides information on the options available for rack mounting the XTR
series and provides installation instructions for the rack mount kit options. The complete set of
instructions for installing the XTR power supplies are provided in the X7TR 850 Watt Series
Programmable DC Power Supply Operating Manual (Part number: M370046-01 for firmware
v1.09 and below or M370185-01 for firmware vi.11 and higher). See the Installation chapter for
additional information.

Rack Mount Kit Options

Table 1 describes the options available for rack mounting the XTR and provides the part
numbers for each option.

Table 1 Rack Mount Options

Unit Option A: Rack Mount with Rails | Option B: Rack Mount with Slides
XTR 850 Watt Single | RM-S-XTR1 and RM-XTR1 RM-S-XTRI1. See Table 2 on page 7.
XTR 850 Watt Dual RM-D-XTR1 and RM-XTR1 RM-D-XTRI. See Table 2 on page 7.

XTR 850 Watt Single and Dual

Figure 1 shows the rack mount kit options for installing the XTR 850 Watt into a rack.



XTR 850 Watt Rack Mount Kit Options

Single XTR 850W - Part Number: RM-S-XTR1 Dual XTR 850W - Part Number: RM-D-XTR1

Figure 1 XTR 850 Watt Single and Dual Rack Mount Kit Options

2 M370046-05



XTR 850 Watt Rack Mount Kit Options

Location Requirements

Install the XTR in a location that meets the following requirements:

Condition Description

Clean The XTR should not be exposed to metal filings or any other form of conductive contamination.

Cool The ambient air temperature should be between 0 °C—50 °C (32 °F—122 °F) for best performance.

Ventilated Whether operating the power supply in a rack or on a bench, allow air to reach the ventilation
inlets on the front and rear of the unit for cooling. The direction of airflow is from the front to the
back of the unit. Ventilation space at the top, bottom or sides of the power supply is not required

WARNING: Shock hazard

Ensure that any mounting screws do not penetrate more than 1/8 in. (3.0 mm) into the bottom
and/or the back of the unit.

M370046-05



XTR 850 Watt Rack Mount Kit Options

Mounting Option A: 1U Rails

1U rails are offered to support the XTR rack mount packages. The rail is a flanged rail type and
only available for a rack depth of 25 inches.

The part number to order this option is RM-XTRI1.

Tools and Materials Required

To mount and connect the XTR, you will need the following tools and materials:
*  Screwdriver (Phillips head, #2)

» Standard carpenter’s level

* Eight #10-24 x %" (30 mm) Phillips head screws.

Installation Procedures

To install the power supply in an equipment rack:

1. Ensure that your rack resembles the rack shown in Figure 2, and has inner holes within the
specified dimensions.

2. Find the 1U space in which you wish to install your power supply in the specific rack.

Place the lower plain flange of the RM-XTR1 rail at the lowest point of the 1U space. If it is
placed correctly, a hole on the inner flange of the vertical rack will line up to the oval
mounting slot in the rail.

Using the carpenter’s level for accuracy, install the rail using two #10-24 screws.
Tighten the screws to a torque of 20.5 to 22.5 in-lbs.
Repeat on the opposite side, using the level to ensure both rails align.

Slide the XTR assembly onto the rails, and against the front rails of the rack.

© NNk

If there are four front mounting locations available, then install four #10-24 screws. Tighten
the screws to a torque of 20.5 to 22.5 in-lbs. If there is only one hole available on either side,
then the RM-XTR1 rails are not installed correctly.

4 M370046-05



XTR 850 Watt Rack Mount Kit Options

" 05"

18.6

Figure 2 RM-XTR1 Rack Rails

M370046-05



XTR 850 Watt Rack Mount Kit Options

Mounting Option B: Manufactured Slides from Jonathan®
Engineered Solutions

Jonathan Engineered Solutions offers a wide variety of manufactured slides to allow the easy
installation and removal of the XTR assemblies into all rack sizes. Follow these steps to find the
Jonathan product that suits your needs.

To install a single power supply in an equipment rack:

1. Find your rack depth (D), which is the distance between the front and back flanges. See
Figure 3.

Figure 3 Finding rack depth

2. Select your rail type. See Figure 4.

6 M370046-05



XTR 850 Watt Rack Mount Kit Options

L C L L L

Standard Flanged

©©©@©©©©©©©©©©@©@@©©@@©©@©©©@©‘
©©©@©©©©©©©©©©©©@©©@@©©©©©©©@©‘

Type1#10  Type2#10 Type3 Typed #10
CSK Holes Thru Holes ~ Square  Tapped
Holes Holes

Figure 4 Selecting a rail type

3. Refer to Table 2 to select the correct Jonathan Engineered Solutions (Jonathan) slide part
number for your rack depth and rail type.

Table 2 Part Numbers for Jonathan Manufactured Slides

Rack Depth "D" | Jonathan Slide Bracket For Rail Types 1, 2, 3 Bracket for Rail Type 4

(in.) Part Number' Front Rear Front Rear

Less than 20 XTR Chassis will not fit within cabinet (depth of unit 19.25")

20-22.5 375QD-18 SPO-622 SPO-683-2 SPO-857 SPO-857
20-25.5 375QD-18 SPO-622 SPO-683 SPO-857 SPO-857
20-27.5 375QD-18 SPO-622 SPO-683-1 SPO-857 SPO-857
20-30 375QD-18 SPO-683 SPO-683 SPO-857 SPO-6832
20-34 375QD-18 SPO-683-1 SPO-683-1 SPO-857 SPO-683-12
25.5-27.5 375QD-26 SPO-622 SPO-622 SPO-857 SPO-857
27.5-29.5 375QD-28 SPO-622 SPO-622 SPO-857 SPO-857
29.5-32.5 375QD-28 SPO-622 SPO-683-2 SPO-857 SPO-857
29.5-35.5 375QD-28 SPO-622 SPO-683 SPO-857 SPO-857
29.5-37.25 375QD-28 SPO-622 SPO-683-1 SPO-857 SPO-6832

1.Jonathan slides 375QD-20, 22, 24 do not fit on the XTR chassis.
2.Requires bracket to be modified as shown in Figure 5.

M370046-05 7



XTR 850 Watt Rack Mount Kit Options

Cut, shear, or bend off top
and bottom flanges

Figure 5 Modifying rear bracket

4. Remove the chassis member from the slides and assemble to the chassis using M5 x 6 mm
pan head screw SST (6X) which are not supplied. See Figure 6.

Figure 6 Removing Chassis Member From Slides

Important: Figure 6 shows the chassis member for slide 375QD-18. The chassis member will be
longer for Jonathan slide 375QD-26/28.

5. Attach front and rear brackets to cabinet section (see Figure 7) using the following materials
supplied with the slides:

(4) #8 x 0.375 Flat Head Countersunk Screws SST
(4) #8 Lock Washers

(4) #8 Regular Washers

(4) #8 Hex Nuts

L]

L]

L]

8 M370046-05



XTR 850 Watt Rack Mount Kit Options

SP0O-622 shown

Bar nut SPO-623. Install temporarily
if using Type 1, 2, 3, rails (x 2).

Figure 7 Attaching Front And Rear Bracket To Cabinet Section

Important: Do not tighten hardware completely.

6. Mount cabinet section into rack between upright rails using:

* (4) Bar nuts (SPO-623 sold separately)
e (6) #10 x 0.375 flat head countersunk Phillips SST screw (not supplied by Jonathan).
Two for each side. See Figure 8.

Important: The hardware used will change depending on the type of mounting hole available in your
equipment rack. Ensure rails are level.

SPO0-683 shown ]

SPO-622 shown — |

Only one screw / 100

used on front side

Figure 8 Mounting Cabinet Section Into Rack

7. Install chassis.
8. Cycle chassis twice (push in and out two times).

Ensure that rollers are engaged and the lock functions properly.

M370046-05



XTR 850 Watt Rack Mount Kit Options

9. Remove chassis and securely tighten hardware from step 4. See Figure 9.

Figure 9 Installing Chassis

10 M370046-05



XTR 850 Watt Rack Mount Kit Options

Related Information

For related material on this product, see also:

*  XTR 850 Watt Series Programmable DC Power Supply Operating Manual (Part number:
M370046-01 for firmware v1.09 and below or M370185-01 for firmware vi.11 and higher)

*  XTR 850 Watt Series Programmable DC Power Supply: Quick Reference Guide (Part
number: M370046-04 for firmware v1.09 and below or M370185-04 for firmware vi.11 and
higher)

*  XTR 850 Watt GPIB and Ethernet Manual (Part number: M370046-06)

Trademarks

AMETEK is a registered trademark of AMETEK, Inc. Other trademarks, registered trademarks, and product names are the
property of their respective owners and are used herein for identification purposes only.

Notice of Copyright

XTR 850 Watt Series Programmable DC Power Supply Rack Mount Kit Options ©February 2009 AMETEK Programmable.
All rights reserved.

Date and Revision
February 2009 Rev D

Part Number
M370046-05

Contact Information

Telephone: 1 800 733 5427 (toll free North America) or 1 858 450 0085 (direct)
Fax: 1 858 458 0267 (direct)

Email: sales@programmablepower.com or service@programmablepower.com

Web: www.programmablepower.com

Printed in USA

M370046-05 11



XTR 850 Watt Rack Mount Kit Options

12 M370046-05




<<
  /ASCII85EncodePages false
  /AllowTransparency false
  /AutoPositionEPSFiles true
  /AutoRotatePages /None
  /Binding /Left
  /CalGrayProfile (Dot Gain 20%)
  /CalRGBProfile (sRGB IEC61966-2.1)
  /CalCMYKProfile (U.S. Web Coated \050SWOP\051 v2)
  /sRGBProfile (sRGB IEC61966-2.1)
  /CannotEmbedFontPolicy /Error
  /CompatibilityLevel 1.4
  /CompressObjects /Tags
  /CompressPages true
  /ConvertImagesToIndexed true
  /PassThroughJPEGImages true
  /CreateJDFFile false
  /CreateJobTicket false
  /DefaultRenderingIntent /Default
  /DetectBlends true
  /DetectCurves 0.0000
  /ColorConversionStrategy /CMYK
  /DoThumbnails false
  /EmbedAllFonts true
  /EmbedOpenType false
  /ParseICCProfilesInComments true
  /EmbedJobOptions true
  /DSCReportingLevel 0
  /EmitDSCWarnings false
  /EndPage -1
  /ImageMemory 1048576
  /LockDistillerParams false
  /MaxSubsetPct 100
  /Optimize true
  /OPM 1
  /ParseDSCComments true
  /ParseDSCCommentsForDocInfo true
  /PreserveCopyPage true
  /PreserveDICMYKValues true
  /PreserveEPSInfo true
  /PreserveFlatness true
  /PreserveHalftoneInfo false
  /PreserveOPIComments true
  /PreserveOverprintSettings true
  /StartPage 1
  /SubsetFonts true
  /TransferFunctionInfo /Apply
  /UCRandBGInfo /Preserve
  /UsePrologue false
  /ColorSettingsFile ()
  /AlwaysEmbed [ true
  ]
  /NeverEmbed [ true
  ]
  /AntiAliasColorImages false
  /CropColorImages true
  /ColorImageMinResolution 300
  /ColorImageMinResolutionPolicy /OK
  /DownsampleColorImages true
  /ColorImageDownsampleType /Bicubic
  /ColorImageResolution 300
  /ColorImageDepth -1
  /ColorImageMinDownsampleDepth 1
  /ColorImageDownsampleThreshold 1.50000
  /EncodeColorImages true
  /ColorImageFilter /DCTEncode
  /AutoFilterColorImages true
  /ColorImageAutoFilterStrategy /JPEG
  /ColorACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /ColorImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000ColorACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000ColorImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasGrayImages false
  /CropGrayImages true
  /GrayImageMinResolution 300
  /GrayImageMinResolutionPolicy /OK
  /DownsampleGrayImages true
  /GrayImageDownsampleType /Bicubic
  /GrayImageResolution 300
  /GrayImageDepth -1
  /GrayImageMinDownsampleDepth 2
  /GrayImageDownsampleThreshold 1.50000
  /EncodeGrayImages true
  /GrayImageFilter /DCTEncode
  /AutoFilterGrayImages true
  /GrayImageAutoFilterStrategy /JPEG
  /GrayACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /GrayImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000GrayACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000GrayImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasMonoImages false
  /CropMonoImages true
  /MonoImageMinResolution 1200
  /MonoImageMinResolutionPolicy /OK
  /DownsampleMonoImages true
  /MonoImageDownsampleType /Bicubic
  /MonoImageResolution 1200
  /MonoImageDepth -1
  /MonoImageDownsampleThreshold 1.50000
  /EncodeMonoImages true
  /MonoImageFilter /CCITTFaxEncode
  /MonoImageDict <<
    /K -1
  >>
  /AllowPSXObjects false
  /CheckCompliance [
    /None
  ]
  /PDFX1aCheck false
  /PDFX3Check false
  /PDFXCompliantPDFOnly false
  /PDFXNoTrimBoxError true
  /PDFXTrimBoxToMediaBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXSetBleedBoxToMediaBox true
  /PDFXBleedBoxToTrimBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXOutputIntentProfile ()
  /PDFXOutputConditionIdentifier ()
  /PDFXOutputCondition ()
  /PDFXRegistryName ()
  /PDFXTrapped /False

  /Description <<
    /CHS <FEFF4f7f75288fd94e9b8bbe5b9a521b5efa7684002000410064006f006200650020005000440046002065876863900275284e8e9ad88d2891cf76845370524d53705237300260a853ef4ee54f7f75280020004100630072006f0062006100740020548c002000410064006f00620065002000520065006100640065007200200035002e003000204ee553ca66f49ad87248672c676562535f00521b5efa768400200050004400460020658768633002>
    /CHT <FEFF4f7f752890194e9b8a2d7f6e5efa7acb7684002000410064006f006200650020005000440046002065874ef69069752865bc9ad854c18cea76845370524d5370523786557406300260a853ef4ee54f7f75280020004100630072006f0062006100740020548c002000410064006f00620065002000520065006100640065007200200035002e003000204ee553ca66f49ad87248672c4f86958b555f5df25efa7acb76840020005000440046002065874ef63002>
    /DAN <>
    /DEU <>
    /ESP <>
    /FRA <>
    /ITA <>
    /JPN <FEFF9ad854c18cea306a30d730ea30d730ec30b951fa529b7528002000410064006f0062006500200050004400460020658766f8306e4f5c6210306b4f7f75283057307e305930023053306e8a2d5b9a30674f5c62103055308c305f0020005000440046002030d530a130a430eb306f3001004100630072006f0062006100740020304a30883073002000410064006f00620065002000520065006100640065007200200035002e003000204ee5964d3067958b304f30533068304c3067304d307e305930023053306e8a2d5b9a306b306f30d530a930f330c8306e57cb30818fbc307f304c5fc59808306730593002>
    /KOR <FEFFc7740020c124c815c7440020c0acc6a9d558c5ec0020ace0d488c9c80020c2dcd5d80020c778c1c4c5d00020ac00c7a50020c801d569d55c002000410064006f0062006500200050004400460020bb38c11cb97c0020c791c131d569b2c8b2e4002e0020c774b807ac8c0020c791c131b41c00200050004400460020bb38c11cb2940020004100630072006f0062006100740020bc0f002000410064006f00620065002000520065006100640065007200200035002e00300020c774c0c1c5d0c11c0020c5f40020c2180020c788c2b5b2c8b2e4002e>
    /NLD (Gebruik deze instellingen om Adobe PDF-documenten te maken die zijn geoptimaliseerd voor prepress-afdrukken van hoge kwaliteit. De gemaakte PDF-documenten kunnen worden geopend met Acrobat en Adobe Reader 5.0 en hoger.)
    /NOR <>
    /PTB <>
    /SUO <>
    /SVE <>
    /ENU (Use these settings to create Adobe PDF documents best suited for high-quality prepress printing.  Created PDF documents can be opened with Acrobat and Adobe Reader 5.0 and later.)
  >>
  /Namespace [
    (Adobe)
    (Common)
    (1.0)
  ]
  /OtherNamespaces [
    <<
      /AsReaderSpreads false
      /CropImagesToFrames true
      /ErrorControl /WarnAndContinue
      /FlattenerIgnoreSpreadOverrides false
      /IncludeGuidesGrids false
      /IncludeNonPrinting false
      /IncludeSlug false
      /Namespace [
        (Adobe)
        (InDesign)
        (4.0)
      ]
      /OmitPlacedBitmaps false
      /OmitPlacedEPS false
      /OmitPlacedPDF false
      /SimulateOverprint /Legacy
    >>
    <<
      /AddBleedMarks false
      /AddColorBars false
      /AddCropMarks false
      /AddPageInfo false
      /AddRegMarks false
      /ConvertColors /ConvertToCMYK
      /DestinationProfileName ()
      /DestinationProfileSelector /DocumentCMYK
      /Downsample16BitImages true
      /FlattenerPreset <<
        /PresetSelector /MediumResolution
      >>
      /FormElements false
      /GenerateStructure false
      /IncludeBookmarks false
      /IncludeHyperlinks false
      /IncludeInteractive false
      /IncludeLayers false
      /IncludeProfiles false
      /MultimediaHandling /UseObjectSettings
      /Namespace [
        (Adobe)
        (CreativeSuite)
        (2.0)
      ]
      /PDFXOutputIntentProfileSelector /DocumentCMYK
      /PreserveEditing true
      /UntaggedCMYKHandling /LeaveUntagged
      /UntaggedRGBHandling /UseDocumentProfile
      /UseDocumentBleed false
    >>
  ]
>> setdistillerparams
<<
  /HWResolution [2400 2400]
  /PageSize [540.000 684.000]
>> setpagedevice


